AL6 EHMREMAFER N 11025 E R 2R F 3B FRF A RE RS

AL & HERERAEAN  FAREWMIHL -
7

ola| =% 2F E % ; B R4t
11| 8 RARSIE | bmd e BuA (RS ER#d ANHFATHE| 7 |8

A | K |BEETCAS 75Ke | ERE DT 35Kg |/ NEER(HD) 73Ke [&mHT 30Kg 6 783 g
99 | R |semses 15Kg |1 *ILA 12Kg |@A*IIA 6Kg |/NETA(EBHICAS)  9Kg RSB

A MREHTT 9Kg |ERUNT 12Kg | AT EEE 4% Ke|PHEE* I 6Ke ﬂé 21.5 g
)4 #EE 1Kg | FEK4Q 10K g |4 BERE 0.6Kg |EH 1Kg B BBy
e BECLREYR) 3 2 18.1 g
— IEEHE 3Kg BE -
e RUNT wg|  DERD  Bg1A-E
927

11 | & |F8auaGEsl5a)| JHFANN XGFE B2EGE IR EEEE —

A | & |[mT*rk 72Kg /NS IRH 42Kg [/NEFEET) 63Kg | RERELIH 30Kg 84.4 g
93 | R |ammdT 15Kg|/NESIECAS  20Kg |EiFEEsE 5Kg |BHETCAS 12Kg R

=] ﬁ EFHER 8Kg |AEE TR 9K g | EEFIAT(1T) 16 | B3R ER(4)CAS 8Kg 24.8 ¢
£ AFEE 5Kg |4LZEH A 5Kg |#REZ(T) 17 | R EERE i 2E800g 36 BBy
# QAHEPT 5Kg |77 0.6Kg 255k 0.6Kg |4T8H(1/7) 14 29.2 g
= Br 1Kg B4 0.6Kg #E
A e/ 683k F
927

11 | & (X N%ER |aFsnnGRIE)| PEASREE & AR % B

A | B (EARE 125Kkg  [WEEHHO) 9474 |EERIA 68Kg |[R/LNT £ 30Kg 196.7 g
24 ZEEUNT 35Kg CLEEE 3Kg [EoRHIQ 14Kg REAY

2] AT 30Kg R () 1T |B8ET 12Kg 32.9 g
P2 FKAIQ 12Kg |5 QKT H45) 34 |7 1Kg | B3RS/ 58 8%
# EILHE(SICAS  10Kg|RESEUE (3K L) 247 BEBUNT 5Kg 54.0 g
= LTEEENT 8Kg |77k 1Kg RN BT R %) 3 E
¥ ZF{(CAS) Ke |BAFECK) 34 © 1294 K&
927

11 | PR |mmaces-n)cantsm) | 248 A GER3L)| WELGHE RS R s

B | ¥ |2m@s70s 9478 [s88HI1L) 6K [T 65Kg | TEHIT T 15Keg| & | 87.2¢
o5 | R |sEzk 5Kg |E(12W/58) 45 | EHE ) 2Kg|BEETCAS 15Kg| "1 |psy :

a | PR [pmoss) 1 |EEs e [R5 ske| A | 974
E H#TEH(20K) 155 |$53(KG) 3Kg |7k 0.6Kg | #EEH SKg| 3 [Be%®:
#A EH O.S/Kf 33.2 g
) BE
P RN éﬁﬁé | 1304+
997 \ Sﬁ

11|48 BEA A EX AR YRS ETTE |DALEEERLS BEHE -

A | R |ARR*IK 69K g | BHLTHE 38Kg | BT () 63Kg [FEAB*ILA  12Kg 69.2 g
op | AR |emam 15Kg |[FFT 28Kg |AIS*II A 6Kg |/NEES 3Kg BBy

] EHIF 6Kg |erir A 6Kg |HHEMIT(LT) L [ssE(s) 1Kg 36.4 g
2 ok 1Kg |7 1Kg [## 0.6Kg | (12K/58) 1% Raq:
#7 BRI 0.5Kg ERE 0.6Kg 41.6 g
kA #E
B RN 64 k-
927

EEEE R N5 G35 ¢ 05-5863766 1% A : 05-5875918
B4 ! # T ﬁ‘w‘ﬁ&f%ﬁﬁ\

£ 6

igngT*?Kl




